



Research article

# Biderivations of the extended Schrödinger-Virasoro Lie algebra

Zhongxian Huang\*

Department of Mathematics and Computer, Wuyi University, Wuyishan 354300, China

\* Correspondence: Email: zhxhuang@wuyiu.edu.cn.

**Abstract:** Let  $\widetilde{\mathfrak{sv}}$  be the extended Schrödinger-Virasoro Lie algebra. In this paper, we consider the skew-symmetric biderivations of the extended Schrödinger-Virasoro Lie algebra. We prove that all biderivations of  $\widetilde{\mathfrak{sv}}$  are inner. Based on this result, we show that all linear commuting maps on  $\widetilde{\mathfrak{sv}}$ , which have the form  $\psi(x) = \lambda x$ , are standard.

**Keywords:** extended Schrödinger-Virasoro Lie algebra; biderivation; skew-symmetric; inner biderivation; linear commuting map

**Mathematics Subject Classification:** 17B05, 17B20, 17B30, 17B40

## 1. Introduction

Throughout the paper, we denote by  $\mathbb{C}$  and  $\mathbb{Z}$  the sets of complex numbers and integers, respectively. All vector spaces and algebras are over  $\mathbb{C}$ . The extended Schrödinger-Virasoro Lie algebra  $\widetilde{\mathfrak{sv}}$  is an infinite-dimensional algebra that was introduced in [1] in the context of the two-dimensional conformal field theory and statistical physics, and  $\widetilde{\mathfrak{sv}}$  can be viewed as an extension of the Schrödinger-Virasoro Lie algebra by a conformal current with conformal weight 1. The Schrödinger-Virasoro Lie algebra  $\mathfrak{sv}$ , originally introduced by Henkel [2], has been widely studied in [3–8] in recent years.

The extended Schrödinger-Virasoro Lie algebra  $\widetilde{\mathfrak{sv}}$  is a vector space spanned by a basis  $\{L_n, M_n, N_n, Y_{n+\frac{1}{2}} | n \in \mathbb{Z}\}$  with the following brackets

$$\begin{aligned}
[L_m, L_n] &= (n - m)L_{m+n}, [M_m, M_n] = 0, [N_m, N_n] = 0, \\
[Y_{m+\frac{1}{2}}, Y_{n+\frac{1}{2}}] &= (n - m)M_{m+n+1}, [L_m, M_n] = nM_{m+n}, \\
[L_m, N_n] &= nN_{m+n}, [L_m, Y_{n+\frac{1}{2}}] = (n + \frac{1 - m}{2})Y_{m+n+\frac{1}{2}}, [N_m, M_n] = 2M_{m+n}, \\
[N_m, Y_{n+\frac{1}{2}}] &= Y_{m+n+\frac{1}{2}}, [M_m, Y_{n+\frac{1}{2}}] = 0,
\end{aligned}$$

where  $n, m \in \mathbb{Z}$ . It is clear that  $\widetilde{sv}$  is finitely generated with a set of generators  $\{L_{-2}, L_{-1}, L_1, L_2, N_1, Y_{\frac{1}{2}}\}$  and is a perfect Lie algebra, i.e.,  $[\widetilde{sv}, \widetilde{sv}] = \widetilde{sv}$  [9]. Clearly, the center of  $\widetilde{sv}$  is zero, i.e.,  $Z(\widetilde{sv})=0$ .

In [9], authors studied the derivations, the central extensions and the automorphism group of the extended Schrödinger-Virasoro Lie algebra. In [10], Lie bialgebra structures on the extended Schrödinger-Virasoro Lie algebra were classified.  $n$ -derivations of the extended Schrödinger-Virasoro Lie algebra were investigated in [11], and the main result when  $n = 2$  was applied to characterize the linear commuting maps and the commutative post-Lie algebra structures on  $\widetilde{sv}$ . In this article, we will study the skew-symmetric biderivations and the linear commuting maps of the extended Schrödinger-Virasoro Lie algebra.

It is well known that the derivation algebra of an algebra  $A$  plays an important role in the study of the structure of  $A$ . As generalizations of derivations, the study of biderivations was initiated by Brešar [12]. In [13], Wang et al. introduced the notion of biderivation of a Lie algebra and showed that the skew-symmetric biderivation of finite-dimensional complex simple Lie algebra is inner. There has been a lot of interest in studying biderivations on the Schrödinger-Virasoro Lie algebra, the conformal Galilei algebra, Kac-Moody algebras and the deformed Schrödinger-Virasoro Lie algebra in [6,14–16], respectively. The case of the deformed Schrödinger-Virasoro Lie algebras yield examples for skew biderivations that are not inner [16].

Let  $\mathfrak{Q}$  be a Lie algebra. We call a bilinear map  $\varphi : \mathfrak{Q} \times \mathfrak{Q} \rightarrow \mathfrak{Q}$  a biderivation if it's a derivation with respect to both components:

$$\varphi([x, y], z) = [x, \varphi(y, z)] + [\varphi(x, z), y], \quad (1.1)$$

$$\varphi(x, [y, z]) = [\varphi(x, y), z] + [y, \varphi(x, z)], \forall x, y, z \in \mathfrak{Q}.$$

Moreover, a biderivation  $\varphi$  is called skew-symmetric if  $\varphi(x, y) = -\varphi(y, x), \forall x, y \in \mathfrak{Q}$ . The biderivation  $\varphi_\lambda : \mathfrak{Q} \times \mathfrak{Q} \rightarrow \mathfrak{Q}$  for  $\lambda \in F$ , satisfying  $\varphi_\lambda(x, y) = \lambda[x, y]$ , is called inner.

A map  $\psi : \mathfrak{Q} \rightarrow \mathfrak{Q}$  is called a linear commuting map if  $[\psi(x), x] = 0$  for all  $x \in \mathfrak{Q}$ . Linear commuting maps on the Schrödinger-Virasoro Lie algebra, the conformal Galilei algebra, Kac-Moody algebras and the deformed Schrödinger-Virasoro Lie algebra were extensively studied in [6,14–16], respectively.

The paper is organized as follows. We will introduce some basic conclusions on biderivations of  $\widetilde{sv}$  in Section 2. In Section 3, we will prove that every biderivation of  $\widetilde{sv}$  is inner, and then we will give the form of each linear commuting map on  $\widetilde{sv}$  in Section 4. In Section 5, in order to find some differences, we compare our main results with those for the Schrödinger-Virasoro Lie algebra in [6] and the deformed Schrödinger-Virasoro Lie algebras in [16].

Throughout this paper, we work over the field  $\mathbb{C}$ .

## 2. General results on biderivations of Lie algebra $\widetilde{sv}$

In this section, we give some general results on skew-symmetric biderivations of  $\widetilde{sv}$ .

**Lemma 2.1.** *Let  $\varphi$  be a skew-symmetric biderivation on  $\widetilde{sv}$ , then*

$$[\varphi(x, y), [u, v]] = [[x, y], \varphi(u, v)], \forall x, y, u, v \in \widetilde{sv}.$$

In particular,  $[\varphi(x, y), [x, y]] = 0$ .

The proof is similar to that of Corollary 2.2 in [7].

**Lemma 2.2.** *Suppose that  $\varphi$  is a skew-symmetric biderivation on  $\widetilde{\mathfrak{sv}}$ . If  $[x, y] = 0$  for  $x, y \in \widetilde{\mathfrak{sv}}$ , then  $\varphi(x, y) = 0$ .*

*Proof.* By Lemma 2.1, we have

$$[\varphi(x, y), [u, v]] = [[x, y], \varphi(u, v)],$$

for all  $u, v, x, y \in \widetilde{\mathfrak{sv}}$ . Since  $[x, y] = 0$ , then  $[\varphi(x, y), [u, v]] = 0$ . Thus,  $\varphi(x, y)$  commutes with  $[\widetilde{\mathfrak{sv}}, \widetilde{\mathfrak{sv}}]$ . Since  $[\widetilde{\mathfrak{sv}}, \widetilde{\mathfrak{sv}}]$  coincides with the Lie algebra  $\widetilde{\mathfrak{sv}}$  [9], we get that  $\varphi(x, y) \in Z(\widetilde{\mathfrak{sv}}) = 0$ . This concludes the proof.  $\square$

### 3. Skew-symmetric biderivations of $\widetilde{\mathfrak{sv}}$

**Theorem 3.1.** *Let  $\varphi$  be a skew-symmetric biderivation of  $\widetilde{\mathfrak{sv}}$ . We have*

$$\varphi(x, y) = \lambda[x, y], \quad \forall x, y \in \widetilde{\mathfrak{sv}},$$

where  $\lambda \in \mathbb{C}$ .

*Proof.* This will be completed by verifying the following arguments.

**Claim 1.** *There exists  $\lambda \in \mathbb{C}$  such that*

$$\varphi(L_m, L_n) = \lambda(n - m)L_{m+n} = \lambda[L_m, L_n], \quad \forall m, n \in \mathbb{Z}.$$

We write  $\varphi(L_m, L_n)$  in terms of the basis as follows

$$\varphi(L_m, L_n) = \sum_{i \in \mathbb{Z}} a_{i,m,n}^{(1)} L_i + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(1)} M_j + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(1)} N_k + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(1)} Y_{l+\frac{1}{2}},$$

where  $a_{i,m,n}^{(1)}, b_{j,m,n}^{(1)}, c_{k,m,n}^{(1)}, d_{l,m,n}^{(1)} \in \mathbb{C}$ ,  $i, j, k, l, m, n \in \mathbb{Z}$ .

If  $n = m$ , then  $[L_m, L_n] = 0$ , and based on Lemma 2.2 we have  $\varphi(L_m, L_n) = 0$ , so this claim holds.

Next, we assume  $n \neq m$ . By Lemma 2.1, we have

$$\frac{1}{n - m} [[L_m, L_n], \varphi(L_m, L_n)] = 0,$$

then we get

$$[L_{m+n}, \sum_{i \in \mathbb{Z}} a_{i,m,n}^{(1)} L_i + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(1)} M_j + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(1)} N_k + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(1)} Y_{l+\frac{1}{2}}] = 0,$$

then

$$\sum_{i \in \mathbb{Z}} a_{i,m,n}^{(1)} (i - m - n)L_{m+n+i} + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(1)} jM_{m+n+j} + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(1)} kN_{m+n+k} + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(1)} (l + \frac{1 - m - n}{2})Y_{m+n+l+\frac{1}{2}} = 0.$$

Considering the coefficients of terms ‘ $L$ ’, ‘ $M$ ’, ‘ $N$ ’ and ‘ $Y$ ’, we conclude that

$$a_{i,m,n}^{(1)}(i - m - n) = 0, \quad b_{j,m,n}^{(1)}j = 0, \quad c_{k,m,n}^{(1)}k = 0, \quad d_{l,m,n}^{(1)}\left(l + \frac{1 - m - n}{2}\right) = 0.$$

Thus,  $a_{i,m,n}^{(1)} = 0$  if  $m + n \neq i$ ,  $b_{j,m,n}^{(1)} = 0$  if  $j \neq 0$ ,  $c_{k,m,n}^{(1)} = 0$  if  $k \neq 0$ ,  $d_{l,m,n}^{(1)} = 0$  if  $l \neq \frac{m+n-1}{2}$ . Then,

$$\varphi(L_m, L_n) = a_{m+n,m,n}^{(1)}L_{m+n} + b_{0,m,n}^{(1)}M_0 + c_{0,m,n}^{(1)}N_0 + d_{\frac{m+n-1}{2},m,n}^{(1)}Y_{\frac{m+n-1}{2}+\frac{1}{2}}.$$

By Lemma 2.1, we obtain that

$$[\varphi(L_m, L_n), [L_0, L_1]] = [[L_m, L_n], \varphi(L_0, L_1)],$$

so

$$[a_{m+n,m,n}^{(1)}L_{m+n} + b_{0,m,n}^{(1)}M_0 + c_{0,m,n}^{(1)}N_0 + d_{\frac{m+n-1}{2},m,n}^{(1)}Y_{\frac{m+n-1}{2}+\frac{1}{2}}, L_1] = [(n-m)L_{m+n}, a_{1,0,1}^{(1)}L_1 + b_{0,0,1}^{(1)}M_0 + c_{0,0,1}^{(1)}N_0 + d_{0,0,1}^{(1)}Y_{\frac{1}{2}}],$$

and we get

$$\begin{aligned} & a_{m+n,m,n}^{(1)}(1 - m - n)L_{m+n+1} + d_{\frac{m+n-1}{2},m,n}^{(1)}\frac{m+n-1}{2}Y_{\frac{m+n}{2}+1} \\ &= a_{1,0,1}^{(1)}(n-m)(1-m-n)L_{m+n+1} + d_{0,0,1}^{(1)}(n-m)\frac{1-m-n}{2}Y_{m+n+\frac{1}{2}}. \end{aligned}$$

Considering the two sides of the equation, we have that  $a_{m+n,m,n}^{(1)} = (n-m)a_{1,0,1}^{(1)}$  if  $m+n \neq 1$ ,  $d_{\frac{m+n-1}{2},m,n}^{(1)} = 0$  if  $m+n \neq 1$  and  $d_{0,0,1}^{(1)} = 0$ . Then,

$$\varphi(L_m, L_n) = a_{m+n,m,n}^{(1)}L_{m+n} + b_{0,m,n}^{(1)}M_0 + c_{0,m,n}^{(1)}N_0.$$

By Lemma 2.1, we obtain that

$$[\varphi(L_m, L_n), [L_0, L_2]] = [[L_m, L_n], \varphi(L_0, L_2)];$$

that is,

$$[a_{m+n,m,n}^{(1)}L_{m+n} + b_{0,m,n}^{(1)}M_0 + c_{0,m,n}^{(1)}N_0, 2L_2] = [(n-m)L_{m+n}, a_{2,0,2}^{(1)}L_2 + b_{0,0,2}^{(1)}M_0 + c_{0,0,2}^{(1)}N_0],$$

thus, we get

$$2a_{m+n,m,n}^{(1)}(2 - m - n)L_{m+n+2} = a_{2,0,2}^{(1)}(n-m)(2 - m - n)L_{m+n+2}.$$

We have that  $a_{m+n,m,n}^{(1)} = \frac{1}{2}(n-m)a_{2,0,2}^{(1)}$  if  $m+n \neq 2$ , so  $a_{m+n,m,n}^{(1)} = (n-m)a_{1,0,1}^{(1)}$ ,

$$\varphi(L_m, L_n) = (n-m)a_{1,0,1}^{(1)}L_{m+n} + b_{0,m,n}^{(1)}M_0 + c_{0,m,n}^{(1)}N_0.$$

Taking  $\lambda = a_{1,0,1}^{(1)}$ , thus

$$\varphi(L_m, L_n) = (n-m)\lambda L_{m+n} + b_{0,m,n}^{(1)}M_0 + c_{0,m,n}^{(1)}N_0. \quad (3.1)$$

Next, we will prove that  $b_{0,m,n}^{(1)} = 0$  and  $c_{0,m,n}^{(1)} = 0$ . We write  $\varphi(L_m, M_n)$  in terms of the basis as follows

$$\varphi(L_m, M_n) = \sum_{i \in \mathbb{Z}} a_{i,m,n}^{(2)} L_i + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(2)} M_j + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(2)} N_k + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(2)} Y_{l+\frac{1}{2}},$$

where  $a_{i,m,n}^{(2)}, b_{j,m,n}^{(2)}, c_{k,m,n}^{(2)}, d_{l,m,n}^{(2)} \in \mathbb{C}$ ,  $i, j, k, l, m, n \in \mathbb{Z}$ . If  $n = 0$ , then  $[L_m, M_0] = 0$ , and based on Lemma 2.2 we have  $\varphi(L_m, M_0) = 0$ . We let  $n \neq 0$ . By Lemma 2.1, we also have

$$[\varphi(L_m, M_n), [L_{-1}, L_1]] = [[L_m, M_n], \varphi(L_{-1}, L_1)];$$

that is,

$$[\sum_{i \in \mathbb{Z}} a_{i,m,n}^{(2)} L_i + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(2)} M_j + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(2)} N_k + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(2)} Y_{l+\frac{1}{2}}, 2L_0] = [nM_{m+n}, 2\lambda L_0 + b_{0,-1,1}^{(1)} M_0 + c_{0,-1,1}^{(1)} N_0],$$

then,

$$\sum_{i \in \mathbb{Z}} a_{i,m,n}^{(2)} i L_{i+1} + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(2)} j M_{j+1} + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(2)} k N_{k+1} + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(2)} (l + \frac{1}{2}) Y_{l+\frac{1}{2}} = n\lambda(m+n)M_{m+n+1} + nc_{0,-1,1}^{(1)} M_{m+n}.$$

Hence,

$$\sum_{j \in \mathbb{Z}} b_{j,m,n}^{(2)} j M_j = n\lambda(m+n)M_{m+n} + nc_{0,-1,1}^{(1)} M_{m+n}.$$

This means  $b_{m+n,m,n}^{(2)}(m+n) = n\lambda(m+n) + nc_{0,-1,1}^{(1)}$  if  $j = m+n$ . Based on the arbitrariness of  $m, n$ , we obtain  $c_{0,-1,1}^{(1)} = 0$ . Thus,  $c_{0,m,n}^{(1)} = 0$ .

We write  $\varphi(L_m, N_n)$  in terms of the basis as follows

$$\varphi(L_m, N_n) = \sum_{i \in \mathbb{Z}} a_{i,m,n}^{(3)} L_i + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(3)} M_j + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(3)} N_k + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(3)} Y_{l+\frac{1}{2}},$$

where  $a_{i,m,n}^{(3)}, b_{j,m,n}^{(3)}, c_{k,m,n}^{(3)}, d_{l,m,n}^{(3)} \in \mathbb{C}$ ,  $i, j, k, l, m, n \in \mathbb{Z}$ . If  $n = 0$ , then  $[L_m, N_0] = 0$ , and based on Lemma 2.2 we have  $\varphi(L_m, N_0) = 0$ . We let  $n \neq 0$ . By Lemma 2.1, we have

$$[\varphi(L_m, N_n), [L_{-1}, L_1]] = [[L_m, N_n], \varphi(L_{-1}, L_1)];$$

that is,

$$[\sum_{i \in \mathbb{Z}} a_{i,m,n}^{(3)} L_i + \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(3)} M_j + \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(3)} N_k + \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(3)} Y_{l+\frac{1}{2}}, 2L_0] = [nN_{m+n}, 2\lambda L_0 + b_{0,-1,1}^{(1)} M_0],$$

then

$$-\sum_{i \in \mathbb{Z}} a_{i,m,n}^{(3)} i L_i - \sum_{j \in \mathbb{Z}} b_{j,m,n}^{(3)} j M_j - \sum_{k \in \mathbb{Z}} c_{k,m,n}^{(3)} k N_k - \sum_{l \in \mathbb{Z}} d_{l,m,n}^{(3)} (l + \frac{1}{2}) Y_{l+\frac{1}{2}} = -n\lambda(m+n)N_{m+n} + nb_{0,-1,1}^{(1)} M_{m+n}.$$

It follows that  $a_{i,m,n}^{(3)} = 0$  if  $i \neq 0$  and  $c_{k,m,n}^{(3)} = n\lambda$  if  $k = m+n \neq 0$ . Since  $l + \frac{1}{2} \neq 0$ , then  $d_{l,m,n}^{(3)} = 0$ . We obtain that

$$-\sum_{j \in \mathbb{Z}} b_{j,m,n}^{(3)} j M_j = nb_{0,-1,1}^{(1)} M_{m+n}.$$

This means  $b_{j,m,n}^{(3)} = 0$  if  $j \neq m + n$ . Now, we conclude that

$$\varphi(L_m, N_n) = a_{0,m,n}^{(3)}L_0 + b_{m+n,m,n}^{(3)}M_{m+n} + n\lambda N_{m+n} + c_{0,m,n}^{(3)}N_0.$$

By Lemma 2.1, we have

$$[\varphi(L_m, N_n), [L_0, L_1]] = [[L_m, N_n], \varphi(L_0, L_1)];$$

that is,

$$[a_{0,m,n}^{(3)}L_0 + b_{m+n,m,n}^{(3)}M_{m+n} + n\lambda N_{m+n} + c_{0,m,n}^{(3)}N_0, L_1] = [nN_{m+n}, \lambda L_1 + b_{0,0,1}^{(1)}M_0],$$

then,

$$a_{0,m,n}^{(3)}L_1 - (m+n)b_{m+n,m,n}^{(3)}M_{m+n+1} - n(m+n)\lambda N_{m+n+1} = -n\lambda(m+n)N_{m+n+1} + 2nb_{0,0,1}^{(1)}N_{m+n}.$$

It follows that  $b_{0,0,1}^{(1)} = 0$ . Thus,  $b_{0,m,n}^{(1)} = 0$ .

Taking  $c_{0,m,n}^{(1)} = 0$  and  $b_{0,m,n}^{(1)} = 0$  into (3.1), we get the following

$$\varphi(L_m, L_n) = \lambda(n-m)L_{m+n} = \lambda[L_m, L_n]. \quad (3.2)$$

**Claim 2.**  $\varphi(x, y) = \lambda[x, y]$  for all  $x, y \in \widetilde{sv}$ .

Based on (3.2), we can assume that  $\varphi_1(x, y) = \varphi(x, y) - \lambda[x, y]$ . Thus,  $\varphi_1(x, y)$  is also a skew-symmetric biderivation of  $\widetilde{sv}$ , and  $\varphi_1(L_i, L_j) = 0$ . The result to be proved now is that this new biderivation  $\varphi_1$  is zero.

Lemma 2.1 is applied to  $[\varphi_1(x, y), [L_m, L_n]]$ . Since

$$[\varphi_1(x, y), [L_m, L_n]] = [[x, y], \varphi_1(L_m, L_n)],$$

then

$$(n-m)[\varphi_1(x, y), L_{m+n}] = 0.$$

Hence, we have  $[\varphi_1(x, y), L_i] = 0$  for all  $x, y \in \widetilde{sv}$  and  $i \in \mathbb{Z}$ . This shows that  $\varphi_1(x, y)$  belongs to  $\langle M_0, N_0 \rangle$ , where  $\langle M_0, N_0 \rangle$  is the subspace generated by  $M_0, N_0$ , for any  $x, y \in \widetilde{sv}$ .

Based on (1.1), we have

$$\varphi_1([L_i, u], v) = [L_i, \varphi_1(u, v)] + [\varphi_1(L_i, v), u].$$

Thus,

$$\varphi_1([L_i, u], v) = [\varphi_1(L_i, v), u] \quad (3.3)$$

for any  $u, v \in \widetilde{sv}$  and  $i \in \mathbb{Z}$ . The left hand side of (3.3) is in  $\langle M_0, N_0 \rangle$  and the righthand side of (3.3) is in  $\langle [M_0, u], [N_0, u] \rangle$ . Thus, there exists complex numbers  $a, b, c, d$  such that

$$\varphi_1([L_i, u], v) = aM_0 + bN_0, \quad (3.4)$$

$$[\varphi_1(L_i, v), u] = c[M_0, u] + d[N_0, u], \quad (3.5)$$

for any  $u, v \in \widetilde{\mathfrak{sv}}$  and  $i \in \mathbb{Z}$ . It follows that

$$aM_0 + bN_0 = c[M_0, u] + d[N_0, u]. \quad (3.6)$$

By replacing  $u$  by  $Y_{\frac{1}{2}}$  in (3.6)

$$aM_0 + bN_0 = c[M_0, Y_{\frac{1}{2}}] + d[N_0, Y_{\frac{1}{2}}] = dY_{\frac{1}{2}},$$

we get that  $a = b = d = 0$ . Hence,  $\varphi_1([L_i, u], v) = 0$  for any  $u, v \in \widetilde{\mathfrak{sv}}$  and  $i \in \mathbb{Z}$ .

On the other hand, based on

$$[L_0, L_n] = nL_n, [L_0, M_n] = nM_n, [L_0, N_n] = nN_n, [L_0, Y_{n+\frac{1}{2}}] = (n + \frac{1}{2})Y_{n+\frac{1}{2}},$$

we have that

$$Y_{n+\frac{1}{2}} = \frac{1}{(n + \frac{1}{2})}[L_0, Y_{n+\frac{1}{2}}],$$

and if  $n \neq 0$ ,

$$L_n = \frac{1}{n}[L_0, L_n], M_n = \frac{1}{n}[L_0, M_n], N_n = \frac{1}{n}[L_0, N_n].$$

So, for any  $x \in \{L_n, M_n, N_n \mid n \neq 0, n \in \mathbb{Z}\} \cup \{Y_{n+\frac{1}{2}} \mid n \in \mathbb{Z}\}$ , there exists complex numbers  $a \neq 0$  such that  $x = a[L_0, x]$ . Then,

$$\varphi_1(x, y) = a\varphi_1([L_0, x], y) = 0, \text{ for } y \in \widetilde{\mathfrak{sv}}.$$

Moreover,  $L_0 = \frac{1}{2}[L_{-1}, L_1]$ ,  $M_0 = [L_{-1}, M_1]$ ,  $N_0 = [L_{-1}, N_1]$ . Hence,

$$\begin{aligned} \varphi_1(L_0, y) &= \frac{1}{2}\varphi_1([L_{-1}, L_1], y) = 0, \\ \varphi_1(M_0, y) &= \varphi_1([L_{-1}, M_1], y) = 0, \\ \varphi_1(N_0, y) &= \varphi_1([L_{-1}, N_1], y) = 0, \end{aligned}$$

for  $y \in \widetilde{\mathfrak{sv}}$ . Therefore, we have checked all cases for  $\varphi_1(x, y) = 0$ . This completes the proof.  $\square$

#### 4. Linear commuting map of $\widetilde{\mathfrak{sv}}$

In this section, we study the linear commuting maps of  $\widetilde{\mathfrak{sv}}$  based on Theorem 3.1. Recall the concept of linear commuting map  $\psi$  on the Lie algebra  $\widetilde{\mathfrak{sv}}$ . We have

$$[\psi(x), x] = 0$$

for all  $x \in \widetilde{\mathfrak{sv}}$ . Undoubtedly, if  $\psi$  on  $\widetilde{\mathfrak{sv}}$  is such a map, then,

$$[\psi(x), y] = [x, \psi(y)]$$

for all  $x, y \in \widetilde{\mathfrak{sv}}$ .

A linear commuting map  $\psi(x)$  on  $\mathfrak{L}$  is said to be standard if it has the following form  $\psi(x) = \lambda x + f(x)$ ,  $\forall x \in \mathfrak{L}$ , where  $\lambda \in \mathbb{C}$ ,  $f : \mathfrak{L} \rightarrow Z(\mathfrak{L})$ . All commuting maps of other forms are called non-standard. If  $Z(\mathfrak{L}) = 0$ , then  $f(x) = 0$ , and thus  $\psi$  is standard if and only if  $\psi(x) = \lambda x$  for  $\forall x \in \mathfrak{L}$ .

**Theorem 4.1.** *Let  $\psi$  be a linear commuting map of  $\widetilde{\mathfrak{sv}}$ . Then,  $\psi$  has the following form*

$$\psi(x) = \lambda x$$

for all  $x \in \widetilde{\mathfrak{sv}}$ , where  $\lambda \in \mathbb{C}$ . This means all commuting maps of  $\widetilde{\mathfrak{sv}}$  are standard.

The proof of this theorem is similar to that of Theorem 3.1 in [6].

## 5. Discussion

In Tables 1 and 2, we denote  $\mathfrak{sv}$  by the Schrödinger-Virasoro Lie algebra and denote  $\mathfrak{Q}(\lambda, \mu, s)$  by the deformative Schrödinger-Virasoro Lie algebras. Comparing our main result with those for  $\mathfrak{sv}$  in [6] and  $\mathfrak{Q}(\lambda, \mu, s)$  in [16], we find some differences.

**Table 1.** (Q1) Whether all the skew-symmetric biderivations of  $\mathfrak{Q}$  are inner.

	Answer for question Q1
$\mathfrak{sv}$	inner (see [6])
$\mathfrak{Q}(\lambda, \mu, s)$	exist non-inner for the certain $\mathfrak{Q}(\lambda, \mu, s)$ (see [16])
$\widetilde{\mathfrak{sv}}$	inner (this paper)

**Table 2.** (Q2) Whether all the linear commuting maps on  $\mathfrak{Q}$  are standard.

	Answer for question Q2
$\mathfrak{sv}$	non-standard (see [6])
$\mathfrak{Q}(\lambda, \mu, s)$	non-standard (see [16])
$\widetilde{\mathfrak{sv}}$	standard (this paper)

## 6. Conclusions

In this work, we mainly determined the skew-symmetric biderivations of the Lie algebra  $\widetilde{\mathfrak{sv}}$ . The results showed that all the skew-symmetric biderivations of the Lie algebra  $\widetilde{\mathfrak{sv}}$  are inner. Furthermore, we proved that every linear commuting map  $\psi$  on  $\widetilde{\mathfrak{sv}}$  had the form  $\psi(x) = \lambda x$ , where  $\lambda \in \mathbb{C}$ , which indicated that all linear commuting maps of  $\widetilde{\mathfrak{sv}}$  are standard.

### Use of AI tools declaration

The authors declare they have not used Artificial Intelligence (AI) tools in the creation of this article.

### Acknowledgments

The author thanks the editor and referees for their valuable suggestions and comments, which improved the presentation of this manuscript. The research is supported by the Fujian Provincial Natural Science Foundation of China (No. 2022J011203).



---

## Conflict of interest

The author declare no conflict of interest.

## References

1. J. Unterberger, On vertex algebra representations of the Schrödinger-Virasoro Lie algebra, *Nucl. Phys. B*, **823** (2009), 320–371. <https://doi.org/10.1016/j.nuclphysb.2009.06.018>
2. M. Henkel, Schrödinger invariance and strongly anisotropic critical systems, *J. Stat. Phys.*, **75** (1994), 1023–1061. <https://doi.org/10.1007/BF02186756>
3. J. Li, Y. Su, Representations of the Schrödinger-Virasoro algebras, *J. Math. Phys.*, **49** (2008), 053512. <https://doi.org/10.1063/1.2924216>
4. Y. Su, L. Yuan, Schrödinger-Virasoro Lie conformal algebra, *J. Math. Phys.*, **54** (2013), 053503. <https://doi.org/10.1063/1.4803029>
5. Y. Pei, C. Bai, Novikov algebras and Schrödinger-Virasoro Lie algebras, *J. Phys. A: Math. Theor.*, **44** (2011), 045201. <https://doi.org/10.1088/1751-8113/44/4/045201>
6. D. Wang, X. Yu, Biderivation and linear commuting maps on the Schrödinger-Virasoro Lie algebra, *Commun. Algebra*, **41** (2013), 2166–2173. <https://doi.org/10.1080/00927872.2012.654551>
7. J. Wen, Z. Xu, Y. Hong, Non-weight modules over a Schrödinger-Virasoro type algebra, *Linear Multilinear A.*, **2023** (2023), 2176419. <https://doi.org/10.1080/03081087.2023.2176419>
8. P. Xu, X. Tang, Graded post-Lie algebra structures and homogeneous Rota-Baxter operators on the Schrödinger-Virasoro algebra, *Linear Multilinear A.*, **29** (2021), 2771–2789. <https://doi.org/10.3934/era.2021013>
9. S. Gao, C. Jiang, Y. Pei, Structure of the extended Schrödinger-Virasoro Lie algebra formula, *Algebr. Colloq.*, **16** (2009), 549–566. <https://doi.org/10.1142/S1005386709000522>
10. L. Yuan, Y. Wu, Y. Xu, Lie bialgebra structures on the extended Schrödinger-Virasoro Lie algebra, *Algebr. Colloq.*, **18** (2011), 709–720. <https://doi.org/10.1142/S1005386711000563>
11. Y. Zhong, X. Tang, n-Derivations of the extended Schrödinger-Virasoro Lie algebra, *Algebr. Colloq.*, **28** (2021), 105–118. <https://doi.org/10.1142/S1005386721000109>
12. D. Benkovic, Biderivations of triangular algebras, *Linear Algebra Appl.*, **431** (2009), 1587–1602. <https://doi.org/10.1016/j.laa.2009.05.029>
13. D. Wang, X. Yu, Z. Chen, Biderivations of the parabolic subalgebras of simple Lie algebras, *Commun. Algebra*, **39** (2011), 4097–4104. <https://doi.org/10.1080/00927872.2010.517820>
14. M. Abdaoui, Skew-symmetric biderivations and linear commuting maps on the conformal Galilei algebra, *Commun. Algebra*, **51** (2023), 1663–1672. <https://doi.org/10.1080/00927872.2022.2140348>
15. Z. Chen, Y. Wang, Skew-symmetric biderivations and linear commuting maps of Kac-Moody algebras, *Linear Multilinear A.*, **71** (2023), 867–874. <https://doi.org/10.1080/03081087.2022.2044747>

- 
16. G. Fan, Y. Su, K. Xu, Linear commuting maps and skew-symmetric biderivations of the deformed Schrödinger-Virasoro Lie algebras, arXiv:1611.05718. <https://doi.org/10.48550/arXiv.1611.05718>



AIMS Press

©2023 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)